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(Extraction turbine)
(Back pressure steam turbine)  1.5-2

Condensing turbine
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BOILER

40 kgfem? G

TURBINE

23 kgfem? G
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52 ()
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90
= X X (5.3)
5.1
(Profit) = (' come) - (Variable cost) - (Fixed cost)
Z =|-u-I (5.4)
. (Income: |)
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Mwd
By
Bd
Cele

¢ bag

(Variable cost)

— "ex-bag X C dag
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MW
MW
ton-bagasse/h
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/
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ton-bagassely

MW

ton-steam/h
ton-steam/ton-bhagasse
hly

Bex-bag = (MWg - MWd) X m00, X T/ Bcon (5.7)

Bex-bag = :ton-bagassely
Bcon = : ton-steam/ton-bagasse
mao, = > ton-steam/h
T = s hly
5.7 5.6
(Fixed Cost)

= ( )+

4 R 11X 1. Ra X 10 + TuXt 1M e X 16
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= (fin #T )X 1B+ (fia + tg)xla (5.9)
TH = ( )
= 12 I ( 20%
) + 6 ( )t
8-10
( )
i — 144 x SOR + 15 (5.10)
SOR = Boiler capacity (ton/h)
6. = ( )
( Mr.lgarashi Shinko Ind.Ltd.)
ra - (Lly)
o = (Lly)
. 5.1 )
[l PRc(/+ oen
. (5.11)
1-{l +r)_i"
pIX(l-rr-

E

Capital recovery factor



R a

(5.5), (5.8) (5.11) (5.4)
Z =|-zr-zf

2 (mW6- MWH)XCee - T . (6-B1). chip -

[Rb+ th)xib+ (Rg+ tg)xla]

5.1
£ 15 15
P 0.1 0.2
T 0.01 0.01
0.10 0.10

0.12 0.12
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(5.12)
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